HEIEMAREFRTS

B Fage65over YU9° A

T RAEFERS

1D £ B HMWIAD | DI | LA | EEH 350 JE {5
1 HWETAT)  |deRETC 0-8 4-8 8-9(3) 0-3 4
2 INFRTE ¥254 X1C 8-0 8-4 8-0 3-0 1
3 K ER [THTC 8-4 4-8 5-8 1-2 3
4 kiR TESTC 9-8(3) 0-8 8-5 2-1 2
| B Fagedbover Y¥9° IA
1R 2R SF F

D K& g
DIKE 1T AAC
2BYE
3BT B&BfT RIC
4 KB Rf RTC
@5 /Mg Mz KDC
6 $Il =EE  YuR°TC
THhE XX MoYURTC
8FA EF IBETC
IEHR = RTC
10WE+E & TIA
g3 ¥ RTC
D12 K &= =H@EEIT-X
BEHA*A & Vay$ATC
14 5 B RTC
15BYE
16|FR B TDK

80

83

80

85

82

83

97

86

84

83

85

86




| B FagebOover Y4 IA

1R 2R SF F
D K% i
D1|EH# 8 KDC
2BYE
1
84
I|H B KC'S
4
84
4 {EBE ME WILLS —
1
83
@5 Hitg &7 AAC
6 BYE
8
83
Tk X KC'S .
85
s Fith FX OREARATC —
16
98(1)
9k ME KC’S
10BYE
12
9-8(3)
11BYE
D2 = FEEH TLIHTC — ,
86
13/hF BFE TDK
13
86
14 #H More-Tennis
16
97
15BYE
Q16T KT FKER
| B Fage60over Y¥4° IR
ID AR R BATR|KBRE| ekl FHEE |HDES| [ [[=Fiva
1 EBAME Bo=7#H%e 0-6 6-1 4-6 2-6 1-3 4
2 KHRE AAC 6-0 6-3 6-1 6-2 4-0 1
3 V& N:F | KC’ S 1-6 3-6 5-1 4-6 0-4 5
4 Rk Kl37° #-MTC 6-4 1-6 7-5 3-6 2-2 3
5 H R R KDGC 6-2 2-6 6-4 6-3 3-1 2




B Fagedbover ¥ 77 IR

D £ 8 R B ST EoME| e | BEK NE
AD al RTC 8-1 6-8 1-1 1 = 14
=T &fT RTC % 9 0.61
o B B | wopatc | o | ) 5 9
A B V2y#VATC 9 0.50
) Mg W | PEREHRETC 66 - - ; F 9
€& B L ERER 1T % 14 0.39
D 2 R NG - KE(RA - B - KR BRER NE s
Mg Mz KDC 8-9
B 4-8 0-2 3
® K& T AAC ®)
B® BR ®¥x | PKE™HEAT 9;8 ig - )
BE EA J1y— ®)
B® L RTC 8-4 8-4 2-0 1
X2 & =fEETT=A
ML k—F A2k
| BE E RTC
14z —
BT &fT RTC | AD
L EE B RTC 97
2431 — -
K &£ =FEHETTZR
2 b—F Ak
- B 2 Way$VATC
WE EX M2y¥YATC | B®
o BB ®x | AW 86
B X4 1)—
L h—F Ak
6t miE # | ERAmBTC
v
& E L &R R 1T BD
| omB Fz KDC 85
5L —
RE {7 AAC
B FagebOover 4" 7" JA
D £ = G - 35 - BRI - Bk - 2R e B2
FE ME KC* S 8-9 = 16
1 8-5 - 1-1 2
it Bx 1AEATC (10) % 14 0.53
) gk SCEE KC S 9-8 ) g o - 2 = 11
B B ke’ S (10) % 16 0.41
NI o | e 3 iy 1 2 13
Hdr KDC % 10 0.57
BIEECENEEZSCE ~ ~ ~
2R # #9342 TC




